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In [1]:

import keras

import tensorflow as tf
print(keras.__version__)
print(tf.__version_)
2.9.0
2.9.1
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In [3]:

import numpy as np

# ofLtel EAJF =, ottte E&.

samples = ['The cat sat on the mat.', 'The dog ate my homework.']

# 20 U= HOE2 XD A (AMA)S 2S5
# CHOf:olEA
token_index = {}
for sample in samples:
for word in sample.split():
if word not in token_index:
token_index[word] = len(token_index) + 1

A
ol

max_length = 10

token_index

Qut[3]:

{'The': 1,
‘cat': 2,
'sat': 3,
'‘on': 4,
'the': 5,
'mat.': 6,
'dog': 7,
'ate': 8,
‘my': 9,

'homework. ': 10}

In [4]:

# GO reiA o] 20| Eol

max(token_index.values()) + 1

Out[4]:



In [5]:

gth, max(token_index.values()) + 1))

max_len

[7p]

results = np.zero

print(results)

coococoococococoo
coococoococococoo
coococoococococoo
coocococoococoo
coococoococococoo
cCcoococoocococoocoo
coococoocoococoo
coococoococococoo
coocococoococoo
coocococoococoo

CO0O0O0O0O0 OO

S S S S S S Sy )

coococoococococoo
coococococococoo
coocococococococo
coococoococococoo
coococococoococoo
coococococoocococo
coococoococococoo
coococococococoo
coococococococoo
coococoococococoo

COO0O0O0O00 00O
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In [11]:

.get (word)

token_index

Out[11]:

In [12]:

5

X

IR0 12

# olEEl= =0

sample in enumerate(samples):

for i,

word in list(enumerate(sample.split()))[:max_length]:
index = token_index.get(word)

resultsli,

for j,

1. #

index]

,



In [13]:

print(samples)
print(token_index)
print(results)

al he cat sat on the mat.', 'The dog ate my homework.']

T , ‘cat': 2, 'sat': 3, 'on': 4, 'the': 5, 'mat.': 6, 'dog': 7, 'ate': 8, 'm
' 9, homework "1 10}
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In [14]:

from keras.preprocessing.text import Tokenizer

samples = ['The cat sat on the mat.', 'The dog ate my homework.']

STEP 01. TH0{ S0 CHSt Q1B A ZF @i7|

In [16]:

samples

Out[16]:

['The cat sat on the mat.', 'The dog ate my homework.']

« Tokenizer 222
» EYOCEEH HHOE EESSI X0 CHSAI7| = SMHZE ARE = AEE
= fit_on_texts() : =At HIO|E{E YUHEO} 2|AE HE{Z HBt

= texts_to_sequences() : I EE 0| 8510] CHO|E2 A|EA HEHZ #H3t

ok

I-.



n [18]:

# Oty glkD

=2 1,000012] OB MEIGIES Tokenizer 2HME SHSLICE.
tokenizer kenizer (

f
To zer (num_words=1000)

# CHO| QIGIAZ P=5H|C}.
tokenizer.fit_on_texts(samples)

word_idx = tokenizer.word_index
print("&0o oIEA " word_idx)

2RES "L QIGAO DIAER BIEHEHL| L},
sequences = tokenizer.texts_to_sequences(samples)
sequences

ool ol A o {'the': 1, 'cat': 2, 'sat': 3, 'on': 4, 'mat': 5, 'dog': 6, 'ate': 7,
'my': 8, 'homework': 9}

Out[18]:
[[1, 2, 38, 4, 1, 5], [1, 6, 7, 8, 9]]

STEP 02. THO{ 2| A|HAE AT O|TI HIE| BH

. 2tzho| 2A2 1000047H2] £HO12] /X[ 12 TYTA|7|7].

n [19]:

one_hot = tokenizer.texts_to_matrix(samples, mode='binary"')

print(one_hot .shape)
print(one_hot)

(2, 1000
([

[

[ N

0.
0

N )

o O
O O
O O

n [12]:

# HAE SO oIEASE RELICEH

word_index = tokenizer.word_index
print(word_index)

print('Found %s unique tokens.' % len(word_index))

{'the': 1, 'cat': 2, 'sat': 3, 'on': 4, 'mat': 5, 'dog': 6, 'ate': 7, 'my': 8, 'home
work': 9}
Found 9 unique tokens.

—
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In [20]:

samples = ['The cat sat on the mat.', 'The dog ate my homework.']

# STHE ADJ|JF 1,0000 8lE{=2 M &S LICEH

# 1,0000H(E= 0142 ©oIF JACHH dial S=0|
dimensionality = 1000

max_length = 10

HLtd elT
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In [23]:

results = np.zeros((len(samples), max_length, dimensionality))

print(results.shape)

for i, sample in enumerate(samples):
print(sample)
for j, word in list(enumerate(sample.split()))[:max_length]:
# TS oHAGHO! 0F 1,000 ALOI2| eHE S M4 QlEiAZ BISHEHL|C.
index = abs(hash(word)) % dimensionality
resultsli, j, index] =
(2, 10, 1000)

The cat sat on the mat.
The dog ate my homework.

In [22]:
results.shape, results
Out[22]:
((2, 10, 1000),
array([[[0., 0., 0., ..., 0., 0., 0.1,
[0., 0. . e 0., 0.1,
[0., 0. s e 0., 0.1,
0..0..0., ... 0., 0.0,
(0., 0., 0., ..., , 0.,0.1,
(0., 0., 0., ..., , 0., 0.11,
[[0., 0. , , 0., 0.1,
[0., 0. s e 0., 0.1,
(0., 0., 0., ..., , 0.,0.1,
0..0.,0., .., 0., 0.1,
(0., 0., , 0., 0.1,
[0., 0. , 0., 0.111))






